Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

STEVES

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

1/4 LITE 3 LITE

DIRECT GLAZED FIBERGLASS DOOR

SINGLE w/ TRANSOM
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

For 2x stud framing:construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET #

DESCRIPTION SHEET #

Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)

Door Panel Details 9

Horizontal & Vertical Cross Sections (Direct to Masonry)

Sidelite & Transom Panel Details 10 Vertical Cross Sections

Panel Options 11 Buck Anchoring

Elevations 12 Frame Anchoring & Hardware Details

Horizontal Cross Sections 13 Bill of Materials & Components

N|o~v || WIN|—

Horizontal & Vertical Cross Sections (2X Buck)

N7 /|7 /
A7 4 /
X 4 W4 /
X /

X

1/2 LITE 4 LITE

3/4 LITE 6 LITE

FULL LITE 8 LITE

LEGACY CLEAR COLLECTION

w/ SIMULATED DIVIDED LITES

<
O=
< OT
<20
EZE 1
=<g 68.5" MAX.
i OVERALL FRAME
i WIDTH
/0 | Y
< zZ Z
0h <3 <5
2 9293
s uw ¥ = X =
w2 SO IE = X[l |9
Né zl-u = O (0]
v T g
o~ —_—w NI
R
oc <€ /
= ol / / /
T /// /4/ ///
CONTINUOUS HEAD & SILL

J
X
,I/
FULL LITE
=]
/
X e
(-]
y,
o o / )
/ / /
x |l fo 0 X
[
/ i / /

June 7, 2022

OXO XO OX

% 37.5"x 95.25"( +40.0 -40.0 +40.0 -40.0
000 00 90 /g5 x9525"| +40.0 | -40.0 | +40.0 | -40.0

0
a
0
)
oM
z
RN
oM
0N .=
E 0om
Z0qo
St .
5% 3
%.?
o
W 8§ 8 © L
5 On =1
L I oD
v T %§Z§
£ Ep EDo
] [a]
£63 2568
fom 2Q%cm
¢ Do
gu
o
o C
E 6%
5 o .
o su
o 2o

, DESIGN %(M/

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATION
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NO. DATE

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41479.3

SHEET _1 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

ST 2‘4" [ - | e 'I .2u 2‘4n
05" —=| |=— EXTERIOR @@ — o5
s > \ / | . - z '
% o e T o ha COMPOSITE
K). N - N 4 P Ey s PR [y ‘: CAP \
@ 2 L N =
INTERIOR
B LATCHSIILE  COMPOSITE
MposTE  HINGE STILE LOCK BLOCK
o CAP (LVL) /"1 \ HORIZONTAL CROSS SECTION 19.75" LONG (tvi) CAP TOEV}?_A‘L .
\3/ (LVL) (V) R
v - . '.'
2 BRI
GLASS BITE e T T
— 1"O.A.THICKGLASS  ppeR I |
INTERIOR GLASSSKIN="Fg " » =
1/8" TEMPERED GLASS e
/i
SINGLE LITE (8X) A DECORATIVE INSERT #
9-5/8"X 14-1/2" D.L.O. GLAING <% '» " - a —ff—
w/ FALSE MUNTINS COMPOUND [~ :::ARSPACE R
_ 3575"MAX.DOOR ____ ___3575"MAX.DOOR ___, Sraesn B t 1/8" TEMPERED GLASS e X
WIDTH WIDTH EXTERIOR y
21" MAX.DLLO. 21" MAX ALUMINUM SPACER ﬁ
WIDTH -~ DLO. — GLAZING DETAIL ~ -
b WIDTH Full Lite
12"
\\\ GLASS BITE ,
] ' INT 1" OVERALL GLASS THK. v
/ N/ /1 L ERIOR OVERALL GLASS EXTERIOR INTERIOR
/ _ / / /8" TEMPERED GLASS \
m 8 ) N
! A g A :\\‘AIRSPACE DES)
5 . / ! &2 ‘ T 1/8" TEMPERED GLASS > L
] w0 ~f
R = EXTERIOR |
® 50 ) ALUMINUM SPACER | L
g 1% X G—LL i / / 11 GLAZING ORI
S %0 ©) %O AU /L COMPOUND RN
X o O ! ! e
< 73 § = 7 G2) CLAZING DETAIL N
: o Simulated Divided Lites 2\
R L] S TN
/ / ) o
SEE HARDWARE / VA N R
TABLE e !
/ et e
Vi (LATCH & R l FOAMCORE — [ ». .F ° &
/ DEADBOLT) {[POLYURETHANE) TR n
cwikser | LATCH: SIGNATURE SERIES . ]
DEADBOLT:  SIGNATURE SERIES (980) BOTTOM RAIL &= <
, - o - RE(NFOS/CEMENT
2 SEE HARDWARE TABLE SCHLAGE | "\ DBOLT:  BEON (LVL)
(MULTIPOINT LOCK) )
RockwelL | ATCH: PREMIUM HANDLESET BOTTOM RAIL =
70\ FBERGLASS DOOR PANEL 20 EIEERGLASS DOOR PANEL DEADBOLT:  PREMIUM DEADBOLT (COMP.)
Full Lite Simulated Divided Lites PREMIUM MULTIPOINT HANDLESET
ROCKWELL w/ DEADLOCKING TONGUE {2\ VERTICAL CROSS SECTION
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. MULTIPOINT LOCK \2/
CORE MATERIAL: POLYURETHANE FOAM

June 7, 2022

W,
% 0
-~ [+
X
VX S
0. 40"
&= . bLan
E’:o:(n PR i
:\\E OG{(O
‘Q\\<'90)°)
D8 58
D \\\\ B .m=
\» ZJow
W 522
a ON - @
- O O
v U O XzZzo
e zg K«
o‘cm a -]
o O | .Ch.l
$ 5y 592G
o ,? moni
2 u
c [}
®
E 6% §
3 T .
g su
o 2o
0o
Z3 g
SO =z
e IS
5@ |5 S5
03 g 2
SEGH Frvl B
585 @ <<
Lol
[ [ragy PO
§ e
S E
& 5
>
o
)
=z
Q
0
v
L)
<
o
o
z
DATE: 4/20/22
scae:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41479.3

SHEET _2 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC,



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

0.8

DE}

EXTERIOR

A\Y
W

\

COMPOSITE
CAP

/ 1"\ HORIZONTAL CROSS SECTION

(LVL)

NIERIOR

N

13.875" MAX. PANEL

WIDTH
5,875 MAX. D.LO. 1l
WIDTH
g
/
A
/

HEIGHT
D
o <

79" MAX. PANEL HEIGHT
62.875" MAX. D.L.O.

50 FIBERGLASS SIDELITE PANEL
Full Lite

FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

STILE  STILE REINFORCEMENT

13.875" PANEL

WIDTH
SINGLE LITE {4X)
5.875"X 14-1/2"D.L.O.
w/ FALSE MUNTINS
4
/A
V4
o
-1
ol
38 /
ST | |7
o
~O
////
50 FIBERGLASS SIDELITE PANEL
Simulated Divided Lites

COMPOSITE

CAP \

REINFORCEM

(LVL)

FIBERGLASS
SKIN

EXTERIOR

@/

FOAM CORE ~]

|- 04"

.

1.2 =

A\

A

¥/l

L}

INTERIOR

BOTIOM RAIL
(LVL) ~——

-1.2" ,.;
0.75"

COMPOSITE — |

CAP

/ 2"\ VERTICAL CROSS SECTION

3/

5 T
68.5" MAX. PANEL WIDTH 9
13.125" ) =X
MAX. DLLO. 35" MAX. D.L.O. 2
WIDTH WIDTH —
i /
m 0 4/// 0 //// O
-
><' s
Z0 TRANSOM PANEL
P 60
i
[« T8
INTERIOR
EXTERIOR
m HORIZONTAL CROSS SECTION
\3/
INTERIOR
76" 5/8" OVERALL GLASS THK.
GLASS BITE I— 5/32" TEMPERED GLASS
GLAZING | DECORATIVE INSERT
COMPOUND L RSPACE
? 5/32" TEMPERED GLASS
FOAM SPACER

EXTER!OR PVC MOULDING SECURED w/ 16 GA. X 1" BRAD
NAILS LOCATED 1" FROM ENDS & 3" O.C. MAX.

() GLAZING DETAIL
TRANSOM

I/,,
Yt
-z w0
“W- 0
& - . "
8,420 M
:(:Z_I'\
&= . bamn
Q’,‘o:(ﬂ -
FNSE g9
BN <t
OS> = T s
4 ~ -1 D0 o
N s B4
K& g op
a
\ 5825
& ON - 2
] o x2 9
®E zZ8
5 to FPoe
6 O pui | .ol
8% 592%
Q"2 @daic
[ ”h..
o 1+ .
~JE [+
s
QIs o,
813 cu
=18 2
3
nx B
z0 =9
o0 <3
no EE
n s
I 15 «°
ng 19
L =1 Ll
& o ==
O |8 3%
LD
o L jo (7)
o
2 o
S 2
o. o
>_
i
%)
=z
o
0
|
o
o]
z
2]
wl 1%
AL
0 3
0
T y4
ol |o
=z [n}
a
DATE: 4/20/22 |z
Q
scae: N.T.S. 2
o
DWG. BY: RW m
cHK. BY:  LFS 3
DRAWING NO.: g
FlL—41479.3 N
N
SHEET 3 ofF 13 o)




CONY BANVLATINSNGD aNICTINg "M'Y 2202 @

c186 ON Ansibey ddad SNOISIAZY
L616°6S9°CL8 'ON 8uoyd X8 31va [ON MM
sssce 4 ‘oauien ‘o5z %08 0a /] SNOILJO T3INVd Slulzle] o2
"ONI 'SINVAINSNOD ONIaTing \Wm KIEGNISSY H0 Luvd SIEIEIFL T8
/faa::::ss\ ﬂ Z g oy 4_
///g J(ZO\.M«\\\\ 60vSh “ON ‘I 4000 SSY1oM3gld <~ Elgle |
I/I/@ -.ﬂ.ﬂﬁ@:ﬁ.. X)) \\\ PSS '4 uopuk SNOS % S3ndls i i 6lelE Dl
" * v
II& *e \J\Sm pesodeid sewnsog <1oNAa0¥d 3 M W 5 m %
xi ¥
” . 60veY "ON
2 - 3
[ :mua ~
\\\& ow.mc‘a.o nM ///
\\\Qme ///
Hppgaaan™
. = =
e o |
el ///// N w—l
R = e
Ll | X .
78] (30}
[ =
~~ N ~x . - =
. ~ oo 0 L~
e ™. ™. . ™ =
. . . . = =
—d o |
d w—d
- s |
F F
Ol
— E
0|5 .
W
={Es =
W
» 02 L =
~ e ~y el c V v D
= == = ~0 m ™ ——
Wi oz .y .y ~ il 17,
| R BN 2o —“
e ~u . o A -.—D.- - p- .
< <r
5 al< 5 g
Ol =
|2 O
O ..M.. W
A ~
S
1T ]
Lo |
z z
” —t
T T ~r N
o . . =
% X = -
N d
- —
= z
u el
3 —
L
_.—.ul._ T =
ll“.— o |
NS ¥
— L

BMPE'621L7-14\(0202) 6L7Ly-T\SBUIMRIQ - D\SINIS ADVOT 6L Ly-T4\sleaciddy 19npoid BpUOl4 - Y\IUBUBULIR] - SUOS PUB SBARIS\SIUBIIDNZ



‘ONE SLNVLTINSNOD aNIaHng "m'd 2802 O

aibilllia
r ’

€186 ‘ON Ansibey IAdgd SNOISIATH
LB16°6S9°CLB "ON suoyd 4 i )
S6GEE T4 'OOUIDA ‘O£Z xog ‘O'd \Su SNOILYAT T3 S0 LN NFIE 2 o H_
“ONI ‘SINVLINSNOD ONIgTNg @. KIGW3SSV 90 1avd NI
,/,cﬁck% L ¥00a SSY19Y38l 35 25 |l
\ 'y . R, ~+ i
O e NN i S o - SNOS % S3AILS la|®|BIE &
/’W/ o* ‘QEON* -o&\ TI._ m 2 K.MF m
~ . Y W, :fg peipdesd sjuswnoog :1ONAa0Nd S |55 %
\\ Qoooowmzmuanotﬂ) /I
\\\\.\0\3. ....... 3 ////
\\\\ Iom ////
LTI
o] ool o~ nw
X N A |
odl (/=] ~q
<o~
e o V@
«t{ 0 \@ z
h ﬂw 95
O X <C{><
<~ >0
& ~. | o - o
e |~ -
|| — -
P
O ////,/ o /////
N
W 2
=
5lx<
=10
M ~
o
W.I % :
G
Z CRSBSP
0] ;
////; oo aw
=)
|-
N2 Uﬂ 3o O
O <>
. R
O nw s
N |V
(U AR, O ///,/ & ZW
4
e v
JOVWI GFONAIW
z
(@]
<
e
|

BMP'E'6.rLY-14\0202) 6L p-Td\sBUIMeIq - D\STIIS ADVDIT 671 Y-T4\s|eroiddy 1oNpOid epLIOj] - Y\iUBUBULIR] - SUOS pue sensIS\sIUBlD\Z



Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

SEEE 1 SEENOTE1

. (19

INTERIOR
p S
'»‘K /
. EXTERIOR @
50 SEE NOTE 2 E— (50)
(T (a0) (40) (3412

9

/1 "\ HORIZONTAL CROSS SECTION
\U Outswing shown {Inswing similar)

m HORIZONTAL CROSS SECTION
\6_/ Outswing shown {Inswing similar)

INTERIOR

G3

SEE NOTE 2
(TYP.)

EXTERIOR

/3" HORIZONTAL CROSS SECTION
w Ouftswing shown (Inswing similar)

EXTERIOR

EXTERIOR 1\

INTERIOR

\\

INTERIOR

/"5 "\ VERTICAL CROSS SECTION

/ 4\ VERTICAL CROSS SECTION
w Outswing shown {Inswing similar)

\5/ Outswing shown (Inswing similar)

NOTES:

‘%

I/,
0

\\‘HH”,
SCHM,
\ICENgg

/)
7,
>

1. Sidelite assembly screws located @ 3" & 19" from

each end of mullion {4 total).

2. Moulding secured w/ 16 GA. X 1" brad
nails located 1" from ends & 6" o.c. max.

I//,
W,
0’1, 0
&2 3
&t = 0
8,450 "
§:<=-Z-ir\
&= . bomn
&O0SY 5o
FNSEgax
S NEET:
®cesene, \\ -} >',.SZ
NS 25w
\\ §8®5
£ ON - 2
o, o o
- U (& gz Q
BE. zg®
g =0 e} o
2 £o C L
0 d500
~ 12 V)g 50¢cm
Qi ¢ maxic
=2 '™
ol =
Lis o .
E13 cu
=18 2
=
©
=
ha >E
S0 |5 S0
9 |3 5
L,‘”_,é = S0y
oe |8 29
% |3 S8
., 0D <) =3
I P RS
= -
2l |E
o o
%)
=z
O
]
o
=
<€
a
o
pd
DATE: 4/20/22
scALE:  N.T.S.
DWG. BY:  RW
CHK. BY: LFS
DRAWING NO.:
FL—-41479.3

SHEET 6 ofF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

" \\“‘ ll
__1-1/4" MIN. \\\\ 2 /s,
EMB. (TYP.) \\\}& ‘." R LT TIN ) @”’, o
$Q- “Fz @
:$: o2 ‘_.“); 3
‘ =¥ g S AZd ™
a = XI: & 1=z
e ZOil Y X REZTCag,
| 0I5 CSINK =293 2 0S8 655
o (TYP) AL SRS
e _ Y, T D S 3' > 2
E - ; “,, * W Z dw
. TN AN % 3R.%
IS ‘4 ) 5 . S o
O T P A @) INTERIOR PE, £8,°
T ~ § 59 2 g6
o (40) gl 4% 3928
h Sho 1
. f'”lll!/l!!l/i!iil'!/: - (\1 2 s §
. Qs a4 ~12 Cz
. B % © E fe)
s ' g13 Bu @
4 / ] 8 .l>‘ﬂ.'
ALARRANRANRRAN AN VAL
a ) a
. | o ~ S -
| () e
e </ S8
1 _ oS B>
AL @R @ e
™ v RY
) 7 EXTERIOR 8y |5 92
1-1/4" MIN. o 03 @ 28
EMB. (TYP.) @ QEO'S % g
< N
1"\ HORIZONTAL CROSS SECTION (2" HORIZONTAL CROSS SECTION = P2 |3 29
Shown w/ 2X Buck . 7 /Shownw/2XBuck = 2 of L
Qutswing shown {Inswing similar) Outswing shown (Inswing similar) 5 ’n’;(“ S
Q. 0.
>_
m
EXTERIOR INTERIOR 2
© 0
Z
(4 \ VERTICAL CROSS SECTION 5
7 /sShownw/2XBuck =~ >
SEE NOTE 1 Outswing shown (Inswing similar) o
INTERIOR
B
- 5
o
e e
0 i oaTE: 4./20,/22
EXTERIOR . .
- @ SEE NOTE 2 Sy SAE: N.T.S.
NOTES: (TYP.) o N e owe. Bv: | RW
1. Sidelite assembly screws located 4" from each E;v\B P : CHK. BY: LFS
end plus 4 more equally spaced along jamb (6 total). m HORIZONTAL CROSS SECTION -(TYP) DRAYING NO.:
2. Moulding secured w/ 16 GA. X 1" brad nails 7/ Shown w/ 2X Buck FL—41479.3
located 1" from ends & 6" 0.c. mox. Outswing shown (Inswing similar) s 7 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.




SRRLALLLEARAAY

<
<
St

<
e

1/

Ta -
v

NP

/"1 "\ HORIZONTAL CROSS SECTION

1-1/4" MIN. o

EMB. (TYP.)

NOTES:

1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb {6 total).

8 / Shownw/ 1X Buck
Qutswing shown {Inswing similar)

2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.

1-1/4" MIN.
EMB. (TYP.)

/"2 HORIZONTAL CROSS SECTION

Shown w/ 1X Buck
Qutswing shown (Inswing similar)

SEENOTE 1

INTERIOR

A

T

EXTERIOR v }V
(50)  SEENOTE2 ]
(TYP.) N
1-1/4" MIN.
EMB. (TYP.)
/"3 "\ HORIZONTAL CROSS SECTION
Shown w/ 1X Buck

Outswing shown {inswing similar)

//,

»

I/,

.
*e

Wiy,

S

» Teeneny,
-

A\
W
AL
\CENSe

‘..
.

June 7, 2022

1-1/4" MIN.
EMB. (TYP.)

INTERIOR

/ 4\ VERTICAL CROSS SECTION

Shown w/ 1X Buck
Outswing shown {Inswing similar)

7
~./\‘>’z 0
2o o
- 0
LT = .1
;é=g”
H -5 .
&= . bomn
E’:°~U) Pl
o\\"“‘ 003m
O 2200
o> EEtn .
S 3888
N\ 27 nZ
N\ Do
\ 68°D
& ON . 0
3 o x2 9
‘Ui—
¢ E, zé}‘,‘r
gco 9 .cuw
P a¥ 5024
" @mdak
5o
E g
[
E 6% §
3 T .
g su
a 2o @§
<
23
om
=
28 | &=x
58| =
. RO
g0 |5 %2
0 > S
m —
w3 19 =
se [ 2
=g 'Y X7} SU)
V)g < o
1 i 14 7]
S o e
Q =
ol g °
& &
)...
m
v
v
O
%
ol
'
L
<€
a
o
prd
DATE: 4/20/22
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41479.3

SHEET _8 oF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020\FL-41479.3.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvais\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

17

1-1/4" MIN.
EMB. (TYP.)

/"1 "\ HORIZONTAL CROSS SECTION

\U Shown Direct to Masonry
Outswing shown (Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each

end plus 4 more equally spaced along jomb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails

located 1" from ends & 6" 0.c. max.

(40)

INTERIOR

//

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

9 / Shown Direct to Masonry
Qutswing shown (Inswing similar)

0 9

SEENOTE 1

INTERIOR

A\

EXTERIOR —,
SEE NOTE 2 | |

1-1/4" MIN.

EMB. (TYP.)

/"3 "\ HORIZONTAL CROSS SECTION

W Shown Direct to Masonry
Qutswing shown {Inswing similar)

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR INTERIOR

/ 4"\ VERTICAL CROSS SECTION

9 / Shown Direct fo Masonry
Outswing shown {inswing similar)

June 7, 2022

2z 8

A - )

FARR AP

. :___'
25 Eon

Li03l so%

o~ o0

TS Z 0o

O 3000
o> SEZu |
. > LJbwg
> 27 mZ

N 7]

\) ZSo»
}.\ om +5
2 oan - 8

ey O O
- O O XZo
® F A 4
§ Eo 5%
a £O b B
£ 4% 5024
L T¢ moadDk
F N
t g
g 52 §
3 0,

g su
o o

neo
P
8=
Eo
<
uk 2=
89 2o
no vl
89 |5 “>J§
n g B
iy iy} 3
a‘r nl S
= S
IR ZE s I3
O e SF
S o] NS
a | EHS
e
o. a n
>
)
v
Z
©
n
o
4
Ll
<
a
o
=z
DATE: 4./20/22
SCALE:  N.T.S.
DWe. B:  RW
CHK. BY: LFS
DRAWING NO.:
FL-41479.3

SHEET _9 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



CON| SINVLTIMSNGOD SNIQTINg "M'd 2202 @

INTERIOR

EXTERIOR

("dAL) "awW3
NIW ./ 1-1

13

EXTERIOR
8

A

INTERIOR

®

(dAL) "gw3

/ 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

P )SEENOTE 1

/"1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

NIW.#/1-1

1. Anchor @ sill is not required for single door {X) only.

NOTE:

EXTERIOR

€186 'ON Ansibey 3Idgd SNOLLOTS SNOISIAZY

L616°6S9°CLE 'ON Buold i
S6SEE 4 ‘OOMIDA ‘O£Z Xog ‘O'd \Sv SS0H0 IWOILY3A A8 270 ON o IR 3 B_
‘NI 'SINVITNSNOD oNIdTIng \m&u KTANISSY ¥0 1uvd SIEIEIFL s
//fa— -\\ N Z o o
///Mr@ J&ZO\%\\\\\ R 400a SSv19¥3ald 3 sl e 1_
DB yaitioy; Ny, oS w4 uopuA SNOS % S3AJLS PR
S o VA% ifa_peiodeid sjuswnoog :10Na0¥d m m HHE g

2% TT0T ‘L dunf

INTERIOR

\\

©.

A

EXTERIOR

/"4 "\ VERTICAL CROSS SECTION

w Outswing Threshold

A
2\
_m

®

("dAL) "awW3
"NIW /1L

A\

INTERIOR

/ 3"\ VERTICAL CROSS SECTION

W inswing Threshold

('dAL) "gw3
NIW #/1-1

BMP'E'627LE-14\0202) 6L1LP-14\sBuUMeIQ - D\STIYIS ADVOTT 6LFLY-14\s[er01ddy 1oNpoId BPLO]S - Y\IUBUBULIS] - SUOS PUB SBAIS\SIURIIDNZ



TONG SANVITINSNOO gNiaging

‘M 2202 O

e g mond sadad SNOSIATY .
GBSCC 114 ‘OOUIDA ‘OSZ Xog ‘O'd \Su ONIMOHONY Xong Ag divd [ON S A I w B_
NI ..mkzﬁ._:mzoo oNIgTINg Mmu XTaN3SSY 80 L8vd SIEIEIS|. TS
WA VNG NN
O3 YN0/, 60YEh ON I'd ¥000_ SSV19¥3dld S lglgle
S0 ...ao.&m&...@&«w\\ PSS 4 uopu SNOS % S3AILS METH .
II&... * \J\Vim peJodedd sjuewinoo(g LONA0Nd M g W M W M
¥ = 720z °L dung
ER ¥ PNz
+ 6OVEYON ¢+ = =
“\ . s Ih: Q
”~ o-. R’ S =z
%, LGN A & Z
i ¢
] (dAL)
Z {dAL) XYW
(Al 0091
* R
* 1t i 1 t t
g C i
g O
ST v
o.
o
" = O
5 =] ok
Sl = o
= | R
MW\ ST I I ] I e
AR F ERRATE b FERNS - R T
...-v - thoamw M v<7Wa ...! |..v|
=
o
)
z
<
oz
o
] e (dAL)
£ (dAL) "XVW
- ldn) 0'0.91
-.v G
| S B t t t 1 <
2 =
: 9 o
N T
~ 2 o =
P )
= M ~ v @) “
< o8 h
o E G X @)
! >
« + g aQ
W7 ><
] ] ] ] 7 N
* v - ’ -... .m.c . ¢.'.. b Y %4 4-
s— ‘.. - ..,c. .¢..<....H.. K ..H..v..v ! - .“.‘...
“ g
- =
o
(72
P
<
o
-
. (dAL)
£ - {dAL) XYW
(dAl) 0091
« W J j
4!1]1 .K: 1 1 1 1 1
S N g ]
S . .- « A — 'y 4.
B o : X |
et o "y
e a ,W\
! Al
Tt e o
il | | ] _ | ......l/m
-.- g. - 4.....Ac . . ¢.v.....< a ..4 ....'q...- >
el e M s -~ Mm A -
. QT 3
SE 3
o~

BMP'E'6L1L-14\0202) 6.7Lp-1d\sBUIMBIQ - DASIIYAS ADVDTT 6L LP-14\s[er0iddy 19NPOid BPLO|S - Y\IUSUBULIR - SUOS pue SBA3IS\SIUMID\Z A



. Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

FRAME CORNERS ATTACHED W/ (3] 7/16' CROWN X GDOOR  § MULLION % 3.5'X 4" 20 GA. STEEL PLATE ATTACHED R
SCREWS @ HEAD & SILL (TYP.) —1__=vp) (rvp) e A et LL (S CROWN X 5/8" LONG 16 GA. STAPLES S WAz 8
-—..l " — l l l ?’)% —— _ Ss‘.i& g ‘:..w:. . g
}<~(T¢P) 4 ] T -:.. I:: 3 .k D': 2‘22 :)
VA _i (TYP.) :3;% i FEE
— TRANSOM : TRANSOM T—— = == =2%.3 2 GOSL 5ok
|| — L SEE HINGE 1 ’»,"'g-._ SPS zEa”
@ Ve = f 1 DETAL 5 W3 %0 s L
_ & £ TRANSOMTO — = (TYP.) = ? -y U, EKPRRW Z g5
TRANSOM TO L)2xBUCK | & HEAD “ & = Z= ] ok JUUA R S8R .3
HEAD - - (TYP.) i &> & & 2 x & o8 ©xZ8
(TYP) F )1xBUCK lXBUCK 5% O _ ow o 86 EEg Z8,
' S \DRECTTO DIRECTTO 38 280 < g B =2o88
- MASONRY e |l MASONRY — — = N 3 l *\ Sl %2 RLEE
HEAD & JAMBS HEAD & JAMBS _EH i i i R L§
(TYP.) (TYP.) ? —}: 2 £ ‘EZ
_ — A — 1 ' sl . 218 3o @<
. O~ P
& JE = =
- ~|| QE — -l o> - ]
0% % f o | 23
FRAME 23 DOOR SILL = SEE LATCH & 8| EQ
(TYP.) =~ (TYP) &R DEADBOLT STRIKE SEE MULTIPOINT LOCK O L
- - — il &~ DETAIL STRIKE PLATE DETAIL 3 |3 Sw
| NS e (TYP.) (TYP.) RS
oE (B L5
’-—g 17, <<
X D wuwon X0, OX outswine  HINGE JAMB/MULLION STRIKE JAMB/MULLION  STRIKE JAMB/MULLION o 4 EE
£2 = = 3] S
(29) ) ¢ p NSWING LATCH & DEADBOLT MULTPONTLOCK 2 °
INTEGRAL MULLION ATTACHED TO (TYP.) SDELTE SILL \ g &
HEAD, SILL & TRANSOMW/ (3] P11 T TTHT 1 ;o P \ @
#9 X 2-1/2" DRYWALL SCREWS ~~_||__ \ _ E (TYP) DIRECT TO ] @ &
(TYP.) = i\ Ll — ‘ RANSOM DIRECTTO MASONRY 2X BUCK
= i = 4‘? MASONRY
I - S o BUCK ]XBUCK ,//E] 1X BUCK e NN
RN T 2XBUCK @ \@ DIRECTTO :]EI I~ C
. g K Z 2X BUCK \ MASONRY \ 0
— 2x BUCK — T E rall= > S
@é» l, @ ROCKWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE >
0 1X BUCK Q'
. DIRECTTO | — \ DIRECT TO 'E:"@
MASONRY
HERD & JAMBS HINGE DETAIL MASONRY (20) o TOF PLATE
P) INSWING x8uck (G) \ T g
. DIRECTTO ~ 2XBUCK @ " @I @ @< wl | %
OUTSWING Q GE \ MASONRY el g ;
INSWING o — — 9% 1X BUCK @ - INE
SIDELITE SILL ~3 \ S! 5
DOOR SILL s o 2XBUCK . 2xBUCK . p
(TYP.) \ (TYP) o el 2XBUCK (25 L0 @ 2X BUCK — E DAE: 4/20/22 |3
- e o o o .
DIRECTTO DIRECT 0 . e o RW |3
KWIKSET HARDWARE SCHLAGE HARDWARE DRAWNG NO- o
HINGE DETAIL FL—41479.3 |n
FRAME ANCHORING OUTSING HARDWARE DETAILS -
©

RAENA NN
T 1

SHEEr 12 oF 13




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.3.dwg

BILL OF MATERIALS
ITEM# | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 COMPOSITE JAMB COMP
3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4' X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2' PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
29 #10 X 2" PFH WOOD SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

in
456" S

1

le— 213" —~

COMPOSITE JAMB

WORLDWIDE "4EVER"

0.5" —»| et —

LVL INSERT

. | (065'x27)

<«
2.5“ *
@ COMPOSITE MULLION
244" '

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

4.6"

15 OQUTSWING THRESHOLD

Columbia

CONCRETE ANCHOR NOTES:

edge distance to mortar joints.

. Concrete anchor locations at the comers may be adjusted to maintain the min.

. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

June 7, 2022

F
e
;S‘
/)

A,
A2\
i\

ONAL
Hrmm
BUILDING CONSULTANTS, INC.

S,
7

Z
L)

s
P.O. Box 230, Valrico, FL 33595

Documents Prepared By:«,\da s,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

FBPE Registry No. 9813

ALL SEASONS, INC
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

NOJ DATE

REVISIONS

TTW BUILDEX

DATE: 4,/20/22

wood screws fo prevent the splitting of wood.

S : .
TAPCON® 1/4" 1-1/4" 2 SCALE: N.T;V;
DeWALT " N R R DWG. BY:

uLiRACONS | 174 1-1/4 1 4 chk. v LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41478.3

SHEET 13 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



